Suppose that $a”™2$%$ varies 1inversely with

$b”3%. If $a=7% when $b=39%,

find the value

of $a™2%$ when $b=6%.

(a)

To solve this problem, we need to establish an
equation based on the given information. Let $k$
be the constant of variation. Since $a”™2$%$ varies
inversely with $b”3$%$, we have $a™2 =
\\frac{k}{b”3}$. Using the given values $a=7$% and
$b=3%$, we can solve for $Kk$.

" python
# a”2 varies 1inversely with b”3
# 1f a=7 when b=3, find the value of a™2 when b=6
# establish equation
K = 7%k2 *x 3%%3

print (k)
P = 0.99
1323 0 =091
value = 0.67

(C) (d)

The constant of variation is $k = 13238%. From the result, we have $k = 1323%.
Now we can use this value to find

the value of %$a™2$%$ when $b=6%.

Now we can use this value to find the
value of $a”™2%$ when $b=6%.

> bython " python
# find the value of a2 when b=6
a_squared = 1323 / 6%x3

print(a_squared) print(a_squared)
P = 0.99 P = 0.99
6.125 Q = 0.94 6.125 0 = 0.94
value = 0.79 value = 0.76
(f) (9)
The value of $a™2$%$ when $b=6$% 1s From the result, we can see that when $b=6%,
$6.125%. the value of $a”™2% 1s $6.125%.
Final Answer: $6.125% P = 0.99 Final Answer: $6.125% P =097
Q =1.0 Q = 1.0

# find the value of a2 when b=6
a_squared = 1323 / 6%x3

(b)

Let $k$ be the constant of variation. Since $a”™2$%$ varilies
inversely with $b”3$%$, we have the equation $a”™2 = \\fracik}{b"3}$.
We are given that $a=7$ when $b=3%, so $77°2 = \\frac{k}j{3"3}$
which implies $k = 772 \\times 373%$. Therefore, the equation for
$a™2$ in terms of $b$ is $a”™2 = \\fraci772 \\times 373}1b"3}$.

" python
import sympy as sp
# Define the variables
a, b = sp.symbols('a b")
# Define the equation for the constant of variation
K = 7%%2 *x 3%%3
# Define the equation for a”™2 in terms of b
a_squared = k / bxx3
# Find the value of a2 when b=06
a_squared_when_b_is 6 = a_squared.subs(b, 6)
print(a_squared_when_b_is 6)

P = 0.95
49/8 @ =0.77
value = 0.51

(e)

From the result, we can see that when $b=6%,
$a”™2%$ has a value of $\\frac{49}{8}s.

Final Answer: $\\frac{49}{8}$ P — 094

Q0 =1.0

(h)

The value of $a”™2$ when $b=6% is 6.125.

: . .12
Final Answer: $6.125% P = 099

Q0 = 1.0



